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SECTION -1
Attempt any two questions from the following :

1.  Explain the strategy of five year plan of India.

2. Explain in detail the New Industrial Policy-1991 of India.

[Max. Marks : 50
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3.  Explain the recommendations of the Fourteenth Finance Commission with its criticism. 20

4.  Explain the measures to control inflation.

SECTION - 11
5.  Attempt any five from the following :
(1) The Planning Commission of India was setup in which year ?

(a) 1948 (b) 1949 (c) 1950

(d) 1951

(2) Poverty removal was the main strategy of which five year plan ?

(a) Third (b) Fourth (c) Fifth

(3) The Planning Commission of India is now replaced by
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The first Industrial Policy in India was announced in the year

(a) 1947 (b) 1948 (c) 1949 (d) 1950
The first National Agriculture Policy was declared in which year ?

(a) 2000 (b) 2001 (c) 2002 (d) 2003
In which year was the first Finance Commission appointed ?

(a) 1948 (b) 1949 (c) 1950 (d) 1951
Agriculture income-tax is a source of revenue to

(a) Central Government (b) Local Government

(¢) State Government (d) None of the above

Who looses during inflation ?

(a) Creditors (b) Debtors (c) Traders (d) None of above
Which of the following measure controls the inflation ?

(a) Increase in Bank rate (b) Increase in Reserve rate

(c) Selling of securities in open market (d) All of above

(10) Which of the following increases inflation ?
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(a) Increase in money supply (b) Increase in tax

(¢) Reduction in public expenditure (d) All of above



